

Reappear Grade Sheet of B_Tech BT_3rd_Semester_October 2020

			Basic S	tatistics					
			FSU	J012					
Sr.	Reg. No.		Credit I	Hours- 3		Total Registered	Total Point	Grade Point	
No	Keg. No.	Grade Awarded	Earned Credits	Grade Points	Point Secured	Credit	Secured	Average	
1	1614303039	P	3.00	4.00	12.00	3.00	12.00	4.00	

Date of Issue: 10.11.2020 Prepared By

Checked By Controller of Examination



Reappear Grade Sheet of B_Tech BT_5th_Semester_October 2020

		Tot	al Quality	Managen	nent	Α	nimal Bio	otechnolog				
			OE	027			CSU	J062	TF - 4 - 1		Cora la	
Sr.	Reg. No.		Credit I	Hours- 3			Credit l	Hours- 4		Total Registered	Total Point Secured	Grade Point Average
No		Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Credit		
1	1614303021	A+	3.00	9.00	27.00	B+	3.00	7.00	21.00	6.00	48.00	8.00

Date of Issue: 10.11.2020 Prepared By Checked By Controller of Examination



Reappear Grade Sheet of B_Tech BT_6th_Semester_October 2020

	Reg. No.	Bios	afety, Bio	ethics and	I IPR				
			CSU	J064		Total		Grade	
Sr.			Credit 1	Hours- 3	Ī	Total Registered	Total Point	Point	
No	Acg. 110	Grade Awarded	Earned Credits	Grade Points	Point Secured	Credit	Secured	Average	
1	1614303045	С	3.00	5.00	15.00	3.00	15.00	5.00	

Date of Issue: 10.11.2020 Prepared By

Checked By Controller of Examination



Reappear Grade Sheet of B_Tech BT_7th_Semester_October 2020

Sr. No	Reg. No.	Ethical Hacking				Bioprocess Engineering				Computer Aided Drug Design				Recombinant DNA Technology						Grade Point
			OE055				CSU067				CSU290				ESU004				Total Point	
		Credit Hours- 3				Credit Hours- 4				Credit Hours- 4				Credit Hours- 4						
		Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Registered Credit	Secured	Average
1	1614303021	N.A		В	4.00	6.00	24.00	С	4.00	5.00	20.00	Α	4.00	8.00	32.00	12.00	76.00	6.33		
2	1614303039	N.A			C	4.00	5.00	20.00	В	4.00	6.00	24.00	С	4.00	5.00	20.00	12.00	64.00	5.33	
3	1614303045	A	3.00	8.00	24.00	C	4.00	5.00	20.00	P	4.00	4.00	16.00	С	4.00	5.00	20.00	15.00	80.00	5.33

Date of Issue: 10.11.2020 Prepared By Checked By Controller of Examination